
División (J)
Calcule los cocientes siguientes.

0
1957

4)7828
186R3

7)1305
320

9)2880
516R1

9)4645

651R8
9)5867

1367R3
7)9572

318R3
7)2229

637
9)5733

4263
2)8526

880R8
9)7928

700
6)4200

1325
4)5300

127
8)1016

534R2
4)2138

1236R2
8)9890

4355R1
2)8711

1633
2)3266

1337R3
4)5351

5881
1)5881

539R1
4)2157

5231
1)5231

1762R1
3)5287

701R7
9)6316

578R7
9)5209

1095R2
5)5477

543R2
5)2717

408R4
5)2044

2282R1
4)9129

972R3
5)4863

706R3
8)5651

159R1
8)1273

1521R3
5)7608
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División (J) Respuestas
Calcule los cocientes siguientes.

0
1957

4)7828
186R3

7)1305
320

9)2880
516R1

9)4645

651R8
9)5867

1367R3
7)9572

318R3
7)2229

637
9)5733

4263
2)8526

880R8
9)7928

700
6)4200

1325
4)5300

127
8)1016

534R2
4)2138

1236R2
8)9890

4355R1
2)8711

1633
2)3266

1337R3
4)5351

5881
1)5881

539R1
4)2157

5231
1)5231

1762R1
3)5287

701R7
9)6316

578R7
9)5209

1095R2
5)5477

543R2
5)2717

408R4
5)2044

2282R1
4)9129

972R3
5)4863

706R3
8)5651

159R1
8)1273

1521R3
5)7608
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